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ax+4=2(x+3)+b
ax+4=2x+6+bo|EE
a=2b+6=4 - b=-
La+b=2+(-2)=0




HFA A 26 = 3(2y 4+ 4) - 2(y + 3) 9] =2

® y— -2 @ y=-1 @)y=5
@ y=7 ®y=9

26 =6y+12-2y—-6
26 +6—-12 =6y — 2y
20 =4y

y=>5




D)3(1-x)-3x=0 @ 4x+8=8+4x
@2+x—2x2=1—2x2 @ 4 =3x+ 4x2

® x+24+4=x+6

D3(1-x)-3x=0,® 2+x-2x* = 1-2x% & IxpFg 20|},




oh2 A 4] 3(2x - 13) = 3(x - 7) 2] 3l
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6x—39=3x—-21
3x =18
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WA 4x+17=1-2a° x=-3S T
-12417=1-2a

5=1-2a

a=-2




x—3 2x-6 1 1
@ 5 1 @ 5x+ 3x+
® 3x+4=15x—-4 @ 2x=x+2(x-3)
® 5x=10-5

® 3x+4=15x—-4
1.5x = -8

@ 2x=x+2(x-3)
6=ux

®5x=10-5=5
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@ a+c=b+colHa=>bolt}.
@ a=bolHa-c=b-colth

@)ac = be o1 a = b ol
@ %a = %b o]H 3q = 2b ©|t}.

® a=b °|¥ ac = bc °|t}.

® 9S50 1x0=2x00°]Aq 1 £ 2 o]t}
Zc#0Q W, ac = bc ©|H a = b ©|t}.
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2(1-3x)+2=2x
2-6x+2=2x
—-8x=-4




WA 2(x-8) : T=(x-3) :49] =2

3)43 @ 45 ® 47

ujAle] 47 o
2x-8) : 7= (x
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8x—64="7x-21
SLox=43

145 8(x—8) = 7(x - 3) & HFO]




